gooogn

STEP:1

googooogn

Assembly Instruction

STEP:2

ltem Photo Description Qty | Item Photo Description Qty
A D The leftarm | 1 G Bolt(M6+20) 4
. ININ)] Bolt(M6*30)
B ﬂ Right arm 1 H @ 4
C % Chair face 1 | @ Washer(M6) 18
D Q Back of the chair | 1 J NUL(ME) A
NN Bolt(M6*40) 4 L Washer(M6) 1
F @) 0O03d %

goooogn


http://www.jisupdfeditor.com?watermark



http://www.jisupdfeditor.com?watermark

